Polynomien yksinkertaistaminen
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Nimi: Paivamaara: Pisteet:
2(7x2 + 6x3) +3x° + 2% — 5x? Sx— 8x° +3x + 3(5x — 7x2)
Sx% — x>+ 3x+ 2x* — Ox 4x3+2.x3—3(3x3+6x3)—x
3(6x% — 2x%) — 6x% — 5% — 6 3%+ 6x+2(5x° + 2%) — 2x
6x° + 3x% —x + 3(5)(2 - 7x3) 33 + 5x — 2(6)(2 + 3x) — 2x?
5¢° — x+ 5%+ 3(4)(2 — 2x) 6x° + 5%° + 2(x2 - 4x3) — bx
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Polynomien yksinkertaistaminen

Nimi:

2(7% + 6x°) + 3% + 2x — 5x?
153 + 9% + 2x

5¢° — xX° +3x+ 2% — 9x
X+ T — 6x

3(6x° — 2x%) — 6 — 5x° — 6x°
—6x° + x*

6x° + 3x° —x+ 3(5x2 - 7x3)
—15x° + 187 —x

57— x+5x+ 3(4x2 — 2x)
5 + 124 — 2x

Paivamaara: Pisteet:

5x— 8¢ + 3% + 3(5x— 7x2)
—8x> — 18%* +20x

453 + 2 =303 + 6°) — x

21X —x

3% + 6x + 2(5¢ + 2%%) — 2x
106 + 752 + 4x

32 + 5x = 2(6x% + 3x) — 2x?
3 - 1442 —x

6x% + 5x° +2(x% — 4x°) — 6x
—3x> + 8¢ — 6x
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